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Q7: According to Newton's third law, which is true about interactions between objects? 1

v o Forces occur in pairs.

Forces occur in triplets.
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@ Forces occur by themselves.

@ Forces occur as single quantities.
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@ 22.5N force at 60°
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Q9: A person pulls on a rope attached to a 50 kg boulder with a force of 100 N. What s the direction and magnitude of the force 1

the boulder exerts?

@ 50 N in the same direction

100 N in the same direction

@ 50 N in the opposite direction

v o 100 N in the opposite direction
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Q10: If air resistance and friction are negligible, which one of the following statements about a rock falling from the side of a cliff is true? 1

@ The rock experiences drag as it falls.

The net external force on the rock is its mass.

@ The acceleration of the rock depends on its mass.

v o The only force acting upon the rock as it falls is gravity.
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Q11: Awooden block slides along a horizontal surface but then slows to a stop due to friction. According to Newton's first law of 1

‘motion, what would happen if friction were eliminated?

@ ‘The block would not move.
The block would gain speed and glide faster.
v ° The block would keep moving at the same velocity.

@ The block would slow down and grind to a halt sooner.
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Q12: The speed of a wave can be calculated using the formula: 1
v=r1

where v represents speed, f represents frequency, and A represents wavelength.

An ocean wave hits a cliff face at 10 m/s every 30 seconds. What is the wavelength of the wave?
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Q15: What happens to light when it enters into a different medium that has a lower optical density? 1

v o Its speed will increase.

Its speed will decrease.

@ Its speed will not change.

@ It will be reflected and continue at the same speed.
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Q16: Two similar size rocks are dropped into a lake at the same time. They each send out waves in all directions. What will happen when 1

the crests of the waves made by each rock meet?

@ total refraction

internal reflection

@ destructive interference

v o constructive interference
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Q17: If air resistance and friction are negligible, when dropped from the same height, which wil hit the ground first: a hammer or a feather? 1

@ The feather will hit the ground first.

The hammer will hit the ground first.

v ° They will hit the ground at the same time.

@ It depends if they are on Earth or another planet.
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Q18: A pencil is placed in a glass of water. The pencil looks like it is broken at the surface of the water. 1

2

.

Which wave property describes this observation? .
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Which property of waves does this diagram llustrate?

@ diffraction
v o interference
@ reflection
@ refraction
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Q20: A change in velocity could mean which of the following has occurred in an object? 1

JessicaResendiz  +

v o a change in speed or a change in direction

a change in direction but not a change in speed
@ a change in speed but not a change in direction

@ a change in mass but not a change in direction or speed
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Q21: An object has two forces (A and B) acting on it in different directions. A scaled vector diagram is shown below, with 1 cm representing
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All Questions (21)
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A
Science 45 Revised
-
30N N Scence 45
120° |
8 | setectRasn -
TN < Roring

1. Howlong is the arrow representing force A7 Remermber to include urits.

2.What s the direction of the sum of these two forces (AB)? Show your answer by drawing an arrow on the diagram provided on the
Student Answer Document.

3. What i the magnitude of the sum of these two forces (AB)? Show your working and round to the nearest whole number. Remember
to include units.

IAErans





image1.png
@ Y [3 edulastic x Home Page - Gallup-Mc X \<. PowerTeacher x \<u Microsoft Office Home X \\_\, el=lg] % |

& = C [ @ Secure | httpsy/app.edulastic.com/#renderStudentsResponseForQuestion/close/58a647aae4b04fSe7e72415b/MzM30DgzNDg3Mg%3D%3D/MzA4MzAWNTM20Q:

Assignments / Detailed Responses (Question)

| Physical science (Lab).

8%/ Gallup McKinley Physical Science Module 3 1

O@@QQ@QQQQO@@@@

Q1: Astudent s preparing to enter a science fair. Which experiment is least likely to have potential bias?

@ He tests his best friends to determine the average memory of a New Mexican teenager.
He tests his basketball team to determine the average strength of a New Mexican teenager.
° He tests his grade-level class to determine whether New Mexican teenagers are able to multitask.

He tests the members of his study group to determine whether male or female New Mexican teenagers experience
frustration more quickly.
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Q2 Which statement demonstrates valid logic and good reasoning in drawing its conclusion? 1

@ The season changed to winter last week, and now | have the flu. Therefore, winter must cause the flu.
v o Citrus fruits grow naturally in warm regions, and lemons are citrus fruits. Therefore, lemons must grow in warm regions.

@ The athlete broke a longtime record when she wore the black shoes. Therefore, the black shoes are better than the blue
shoes.

@ Cats lie around most of the day and only purr when you pet them. Dogs like to run and play games. Therefore, dogs
are better pets than cats.
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Q4: Newton's law of universal gravitation can be represented by this equation 1

Felisha Begay -

where F is the force between the masses, o means “proportional to”, m is the first mass, m is the second mass, and ris the
distance between the centers of the masses.

What is the effect on the force, F, between two objects if the mass of one object is doubled?
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